H & 0l & AHS B Ml A

2AM: =&
B AL AL 2
ol OiEdsT At (SH9 H2)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
=& 17,835,183 18,379,225 ABA4,042
& 200,000
Al 17,635,183
AT Al 2ig| 1,657,222 1,809,012 A151,790
= 200,000
Al 1,457,222
otsa+=% At 1,500,222 1,662,012 A161,790
= 200,000
Al 1,300,222
OIE2aE & 22| 120,622 132,212 211,590
201 Let2| 110,782 121,372 210,590
01 Ar2eltl 102,862 113,452 210,590
AL 22 (14HES)
67, 1003 * 14001 2 +33] 28,182
HLAAN =22 (60HES)
337,000 * 14000 2+ 13| 47,180
e FEZA 222 (183)
77,0003 1400l 2 +23 21,560
2SZAL EF (8] 28]) 22BN =52 1,040
AT (AME) OISdaE EX Xz 600
SAXS OIS SR AIERZ
(4N=A) 300
OiS&+E Hidss 88 7Y 4,000
02 324l 7,920 7,920 0
0S4k 22|2 UoIHEE SH2E
INE=3= 7,920
206 =4l 9,840 10,840 A1,000
01 =l 9,840 10,840 21,000
+HIAE REH=E(14)
120,000& *7Box 840
FEZBANE RIM=E(21)
100,000 *4Box 400
SEZAE RAM=E(41)
120,000 *5Box 600
OIEdE AS4E 10,0002 400 4,000
OIE24a% AIEERD] 2,000
Ots&=E =ZHAZ A
500,000& 45 2,000
OISatC AIE N 301,600 260,000 41,600
401 A& B 20HY| 301,600 260,000 41,600
01 Al&HI 301,060 259,460 41,600
Oi2&aS AMEE2(140002) 50,000
OISa+E A AlE i
4,000,000 *10JH 2~ 40,000




2AM: =1
HE: MaT Al 22
ol OSdsk At (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
DiS&tE HERMHER EXI(2HERAHEX
30H4) 6,200,000 %374 A 18,600
OtS4=T BOMAIE AXI(ZOAIE 120HA)
6,500,000 674 A 39,000
Ol &44E XI5He FEFZAL
4,000,000+ 137 A 52,000
TOF OIS ASE JISBI AXIZAL 26,000
T DISASE JIUBI SR Z AL 26,000
M3t OISAST HBZAHENL 14]) 49,460
03 Al&Z S| 540 540 0
et OISA4E HBZA 540
ARD SZAL (T ME) 285,700 0 285,700
== 200,000
Al 85,700
401 Al&HI L2 285,700 0 285,700
== 200,000
Al 85,700
01 Al&H] 285,700 0 285,700
AR STAE HY 285,700
[ 200,000
Al 85,700
SRS AlLRHE (RHH) 662,300 1,219,800 AB57,500
308 XHXIEHHISOI & 250,000 250,000 0
11 I RSOINEHE & X I EFAI L 250,000 250,000 0
SAXIY +TAIE 2Hpe] L SAES]
(187H4) 250,000
401 A& HIL20HH 412,300 969,800 AB57,500
01 AlZH] 410,428 97,064 556,636
TS ALY BEHESAIE N (2E
ESAE DA 34 40,000
HAIE SAXS A4 N2 (SYIDH
50E) 60,000
SAIS () TAXIS Al HEE(aH
== =[] b)) 258,128
SANXS Al BOAIA AXI (12902 ) 32,500
= SAXIY AL RS (SERI| DA
341) 19,800
03 AL THH| 1,872 2,7% 1864
SAIZ(2E) TAXIS Alael K 1,872
S AR2BHAIE HBBA 130,000 130,000
401 AlEHI L2 130,000 130,000
01 Al&H] 130,000 130,000
Q4 ARR SEAL N 130,000
SlT MM 157,000 147,000 10,000




od
i’
oF
uJ

RO

81818 < Pl v R Rl RicH Boo!
S|2|e MR
~HEIEIE SIEIEIEIE
KIo J1<4<4]<|[<
E
E=]
81818 SEES! s1818|81|8 el foeiy el el Joe
S|S|2 S A T Y N A
N~ D~ | D DO |O — |l = | ===
war 51512 T 8|88 |8|8
) S|l |C|C|e
RIS
1818 8|28 818|8|8|28|8 B|lolk|lo|lcle 88883888 NE888 88888 88 8
Slels  2|2|e Slels|2]e|e e|e|e|e|ele e e s e 8 e gxwgwg SS9 S 88 g8 9
[ =N -] Ol H[O|OO ||| O Yo} o (@] N~ — [=ENYe] N~
HEIEEEEI N RS BB|El8legege"gsg 38356% 8828 28 &
& Slo|lo|g|e - = -
<
S
(Ho
[ep)
X
m, «w 5 al
mm g = W=
2 o U 7 = D
. <k = m RO
al 9 A A
= - = w o) El
¥ z &R e
T s il =72 T wE o
\.)un.n_ KJ Ho - ._,._.o H
= &l il LH . o) 20 g}
5 |2 = o Ul wEy
o |=< z = <0 = =] I
F R = _ R ol oo 35 5
v uo (1 D il @ &y KHm =
. = 13 Z 5 ur I o Fo AT
) ek S5 3| | B2 5 8w =
I ~ . -
RO o S R R A o I L S = oK R W 2 BEia
W Q| 0| o s ™ = H_. 9 30 %0 O HO i or =<
™ 80 | RO ~|D
IF oH | U o=
~ =

60




od
i’
o
uJ

=
=2

oS!
s
TESTEN

DV ES

2A:
X XH
o
&

-

KIo
E
E=)
LH3r
ifed
KIS
8 8 8 S 8
S S S S 9
”Onrﬁ o — —
<
b=y
= o U F
BN < g
a0 2g =
%Mlmw =
P lEzhz &
N BT [ T
~ |3 ® < )
= wu___o:mao =
@@MEMHDWT
oF | = L °
3 ma%m ()
B P
b linries
oA T "
o Kk M0 4 ool =
g
I+




